g used to calculmte the arca of

W $aEA TR & oga b
2(+b) (B) 2! =b

Ibi/ +b) (D) b
ivan was the Chairman of -
O (B) ISRO)
) SEE (1) RBI
o s @
A) DRDO & (B) ISRO %
Sk (D) RBI &

Ciune acid occurs in the free acid form
in-

(A} tamarind (B) vincgar

(C) apples (1)) lemons
HIIfTE s e oW K owy 8§ @i b -
(A) g9t 5§ (B) /T A

(C) #a o (D) ¥ty o

Which planet in our solar system is known
as the red planet 7

(A) Jupiter (B) Venus

(C) Mars (D) Mercun

i W dew ¥ v m oW W oI & ey
o wen oen &7

(A) ety

(C) wmm

(B) u®
(D) ¥

Which of the following is a lubricant for
the use of heavy machines ?

(A) Bauxite () Phosphorus

(C) Graphite (D) Silicon oil
Prefoften & @ wrl weft & awam % fm
s dom b
(A) wfeumgz

(C) Twge

(B) =iy
(D) fafersta dw

Silver anticles become black after some
time when exposed 1o air because ol
formation of a coaling of
(A) Silver chlonde

(B) Silver sulphate

(C) Silver nitrate

(D) Silver sulphide

g =g § 9 9 o 2 O fvse 6 e
W W Wk owoTE TE O
B TTF ¥ AT & |

(A) femrT TS

(B) et ooz

(C) fear -mgzz

(D) foear wemrgs

The climate of India is -
(A) Tropical Humid

(B) Tropical And

(C) Tropical Monsoonal
(13) Tropical Very Humid
WA ® weang ¥ -
(A) Twrsfraidim s

(B) Twrsfemim g

(C) wwfraim W
(D) swrsfzdn sfyand

Every rational number is a/an -
(A) Natural number

(B) Imecger

(C) Whole number

(D) Real number

TE WY Hem i ke

(A) 9 =0

(B) o=

(C) qof wem

(D) amatas wom



a9

1
The amount of T 10,000 in 1: vears at

107 p.a. compound interest ]'!;}Ibll.‘ half
vearly 15 -

2 10,000 ®| 1]: a9l & fao 100 ofy =d &
=g W ) T A wals @ s T
Emua k-

(A) TII576.25
(Cy T 11575.25

(B) T 11500.25
(D) T 1155025

Choose the cormect option :

Where did Santosh Yadav go for her
college education

(A) New Delhi  (B) Jaipur

(C) Chandigarh (D) Lucknow

Echo 15 heard due to:

(A) reflection of light waves
(B) reflection of sound waves
(C) refraction of light waves
() reflection of radio waves
whaeafy gond & b

(A) W& AT F QOST & BN
(R) w3 7ol & grmda & s
(C) wwre T & Huda & W
(D) sa atm & qrEda & s

Which of the following is pot 'Rabi’ crop?

(A) Wheat (B) Mustard

(C') Gram (D) Jowar
Prefuftrs 4 & 2@ Th wEm 4Bt
(A) 7§ (B) wval

(C) == (D) 7=t

13

14

IS

16

Amnesty International is a

(A) Fconomic organisation

(B) Military organisation

(C) Human Rights organisation
(D) Political organisation
TR gzrhirem

(A) snftrs wmem

(B) #= wmam

(C) urmfirsry dnaa

(D) wadifos wraa

TS gu W F=n sfem & vowwn §
(A) Tt merm (B) e e

(C) A (D) gy ArTram

Choose the comrect form of the active
voice of the following sentence from the
given options

The book was read by her.

(A) She had read the book

(B) She read the book.

(C) The book had been read by her
(D) She reads the book.

Number of females per thousand males
refers o :

(A) Sex Ratio

(B) Literacy Rate

(C) Infamt Morality Rate

(D) Birth Rate

uft um WA el ur wiEens W Hem
wearn b

(A) femauma

(B) wmwTem =T

(C) faryy 97g &7

(D) ¥9 =T



Ln:: Ly

Which event gave rise to the ‘Concepl of
Mationalism® 7

(A) Reformation Movernent

(R} French Revolution

(C) Crimea War

i1y Treary of Denmark

faw grw 3 vems @ smoTe W TN
fer ?

(A) gt srei

(B = W s

(C) e w g

(1) ko wf

In which city docs head office of the
International Court of Justice situated ?

iA) Moicow iB) Rome
(C) Hague (D) Sydney
STy omrs w1 geaey e s @
i bk 7

iA) et (B) ™

D) faeh

| 0 "li-!rrl'-hun:' mil

pes mre ko for
(B)] Silver

|‘|‘_ _-':_';ur
([ * IIra-urn—'l-n*-u.' (1) Crorld

Fﬂh‘mﬂﬂﬂir

l-ﬁim G
iC) L ke ([}) W=
e

W?:} AN the follow IME Wik pa
uppomicd as the Meputy Prime Minmg,

of-#hdia 7
(Ap H.N. Bahuguna
(B Devilal
(C) Morarji Desal
:@L K Advam
fpon 4 # ®m wrTe & 39-WWEER T
k-
-
(AL U T
(T¥y v
J'ITihmﬂ i 151
Il‘:dl ™ & SEurd
=T

Supurvises the functioning of foms
sdurces of loans in Indin 7

(AN NITI Azyog

(W% 1nion Finance Ministry
(€)' State Bank of India
(1)) Rescrve Bank ol Indin

uTA A 3w & shwafrs @A & WY
w oTdew oy wTm ¥ 7

(A) i smam

(B) "y fire samg

(C) wrin w2z @

(D) wrdm Frod s

15



11 Ngendra S’ is located on whsch niver”

(A} Caamga i{Hy Haghrmah
iCh Kosi T3 Mahananda
g A T wdh we foen B 0
(A} =1 (@) Wi "
iC) wh iDy wwr=n _;
W
The kengest part of alirmeniary Ehll in
huimans I8 :_
(&) small imicsting WL
(B} larpe ancstune i
() mownach
(13} cenarphagus WO
4 -m"-ﬁ e
oy o B T
(A) F—_‘-:
(W) yeea D
(¢ wrern cf
(10} it
(¥=
According to the Census 2011, saabe
having the M rRLm ity
A Inchia, s -
(A} Lmar Fradesh =
(B} Maharashira 'f_
() Hihar
i) West Bengal
2011 & wwrn hmm&-n
WA e wen T & Ty
IA) T2 udn 2
(B wETT =4
iCy P f
i) ot o

.1 What was fhe mmodiste cause of the First

World War 7
iA) Mileram

(B} Assassingtion of Austrian Prince
() Girowing Incrmational Anarchy
(13} Secrer Treadics

vus fapags W el wY w=@ @ 7
(A) S=pam

(R) onfre & TAgEET W D

(U) wel g s artrEmm

(1) 7 wifimn

TEL-NING i the word -

(A) Chinese  (B) English
iU} Spanish (1) French
‘- e B -
iA) R

() iy

(H) aeh
(D) e

The mation of plancls is governed by ¢
(A} Newlon's low

B} Kepler's law

(0] Grravitational law

(1) Boyle's law

ot @ miy a1 Wy vew ke

iA) = & From g

iB) k=T & Fom oM

() Teemerd= & Feam g
(13} wfgs & Frem A

Most abundart factor of production in a
couniry like India is:

(A) Laad (B) Labour

(C) Capital (D) Knowledge
v W dw @ weffirs T 9w & Tew
T W o b
(A) g
(Cy

(B) wm
(D) we



Moat on waer
of air
ke i lews than waler

decper than we

Migher density than watcr
hm ko

wit ok b

e o W ey o b
WA o mEn e b

W e owd & oo oEen b

Frifen wfem & ratem

(A s

() marm waa e W

10 Tt fae gy

(1) wirTy fro=r ey sew

A et e ommw ) oy o e g o
sk §
(A) *m (B wread
() e (1) W
AY  Two bones are connectad 1o each
ithier by
(A Adiposg iB) Cartilage
(L) Tendan D) Ligament
T st wem A om ogEr @ e oh
evh & ¢
YR ip ] iR} Tofia
iC) wen i) ™y

| M Manement ol water maolecules through o
I selectiveh permcable mombrane 15 called
iA) [hilusion

(B} Cramiosis

i) Active Transpont

(L Imbibiation

"™ & s @ TR W SuTEE ST
el X 71 W TR mrh B

iA) P

(H) ST

() =S T

i1y o yirem

As compared (o banks, rste of interest
charged by money lenders 1

AL lower

(H) same

(C) shghthy higher

(L3 much higher

T W N & g ® T wp ) ol
wrw o o1 Ok b

i) &=

(B ==

(C) wmT ¥ e

(D g o

Lhoose the correct option to the Ui st ion
from the ophona that (ol low

Wha took “diksha® from CGuny Havidas 7
(A} Gurm Ramananda

By Raidas

(C) the pandits of Kashi

(DY) Rari Mhali

¥ What sum ol moncy will amount 10
€ 250K.80 a1 129, Pa
annually m 2 years 7

hmmzuit::".mui-&qmﬁ
LABL B il T —

cusrnproisrded

T wt oo
(AY ® i iHy T 2im
) ' 3200 (1) 334y
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Phar b iy woomdhe Belirn g 10 rmorth anad
nivth westomn ndia = called

Al L himiok (ki Fohs

i Bliraed (L L

oy o TA® ol wrep @ wert gl
S T e R

iAl Mepw 11w

L) whaey inq

Svmefidinn # 8 foar famen 2 fres e e
L

A} ol wrain () T W

Wy o (1Y) it e

L Ll R . ol
iA) PN el e
() wh, wwly wfed
iCy s o ws
ilh) ™ e

Choose e cotrot Friglish srecdsson of
the pivem senienge i Hind|

e drea wiiva b

IAS 1o learming Ueography o difTicull

B Cmograghy & dlflcul o leaes

) Gengraghy is & difMloult vabgeer 1o
slLidy

(2 There s a grear o Miguly s
Croographs

Whi was the keader of Amenicn's fresdon

strugele

1A lefferson (W) Mermin | e
i Lincole i Washengton
wifter & svew Wem & dm oy @ ¢
1A} T iy =
101 T (1) sy

43 Which makarial i unasd 4o make solar cell”

(A Sibicom iy Usrbon

1) Lend P10 Abaminbem

it &3 v & Gy W oo awen S
wa

TN L iy s

iy Ww (e (L) iagm

e mnim reasirm why Tarmers ae abic
groa threg diTerent coops = 8 yoae of
AT Well developed impames sysbom
B Avmlabilin of agrauwmesl oredi

L) Ceosormenont s agiwulilay pod

(1 Avaslabalay of high-veild variery
L yitit

L grm re w4 2 F fafr Wy e

LR LR R

(A wfien febad el

Ry P oo o e

i wrwrh gy dfy

M == 777 fom ol fr & ey

I the disporals of o rhombus arc of length
foom and ¥ cm. then ity side s eiqual 1o
A S om iy 10 on

it |4 em iy 20 om

T TS A & e w8
R WE R S el e e b

(A} 3 inb By 1ok

(1 14 e (D 20 e

Which of g following neods a proat

AL Axiom i) Theorem
ICy Diefindison D) Postua e
[A) Ty 1Ry Wi

I€) o (D) v

2Te



v did the first use of
take place 7

(B) Cuba

(13} North Korea
g fem w9 g @
iHy W

¥ (D) Tor Wit
& =p
U|

annually becomes

of sl in 2 vears, then the

of interest per annum is
s un wivs usgty A @ ooy @ 2wl

immfgwnmtmmﬁﬂ
m“t _....

A) 125% " {B) 25%

C) 31.%% (D) 50%

An example of chemical change i
i A} freczing of waler

(1) melting of sugar

(C) souring af milk

([} crystalHsation of sall
Tramafas qf-Hllr = v b -
(A) "W wr

(R O = Fn

(C) quw

kel
(D wWeam W

49

&  Radish is nli:udiﬁ!d -
(A} Root (B) Shoot
() Fruit 5 (D) Flower
el o wrare
Ayt (. (B ek
C)wmt s D yk

£l

The hormone which regulale blood s,

level in hody 15 secreted by -
(A) Thyrod

(B) Papcreas

(C) Kidney

.[}.F‘I‘I.I.l-ﬂ-lr." )
g 3 v ¥ T T W e

(A) ogTEs BT

(R) ar=mrE g

(C) 7 (gws) T

(D) gy @ :
The largest freshwater lake in Inda s
iA) Wular (B Bhimtal

(C) Lokuak (D) Namital

wira § @z o ! weR of e b

(A} T () v

(C) s (D) Ao

Rate of change of lincar momentums
called

(A} acccleration

(B) rorgue

(C) force

(D) moment of incrtia

s win & wood W) o1 % A |
iA) =™

(B) wergd

C) =

(D) W st

T W e few oy 4 8
(A) Wwgn (B) wrfraren



Which of the following devices converts
electrical energy into mechanical energy”
(A) Electric iron

(B) Electric bulb

(C) Electric geyser

(I 1lectrnic motor

s 3% e o g o

=t % ofrafim e k ? Ve
O3 g e &
ok e, s -
(C) T e "
(D) forger =y er

“WMﬂﬂumumﬂnmmpdmu
is located 7

(A} Mamipur

(B) Arunachal I'radesh

(C) Meghalaya

(D) Mizoram

ofrar w1 st ey fa, faw T o fea
(A) sfmge

(B) e TN
(C) Wawa

(D) forsres

9546

.

1610

It x+122 then P4y =7
x v

16109546

| !
at 1+==21 Ll l'r'l':.—_.;- =

L
iB) 4
(D)

(A) 2
(C) -4

46

The northem most mnge of Ihmm
mountains is called

(A} Himadri (B) Himachal c:
(C) Shivaliks (D) Satpura —
frerg wdn & awh wiwTw @ “J.:J
(A) forie (B) frres

59

6l

The first citizen of the country I8
(A) Chiel Justice of Supreme Court
(B) Prime Minister

(C) Advocate General of India

(D) President

bty w1 won e Om b

(A) Tepm Wy & 0 rrameT
(B) wurrdh

(C) wrea w1 swrraETd)

(D) Trgaia

Civil Rights Movemen! in America was
started by

(A) Martin Luther King Junior

(H) Nelson Mandela

(C) George Washington

(D) John Lewis

st & afre sftee e faes T
= s o @ 7

(B) %= st

(C) wmk widtmzs

(D)) Wi wiw

Who appoints the CAG (Comptroller and
Auditor General) of India ?

(A) Prime Minister

(B) President

(C) Governor

(1M Vice President

wrte & CAG (Frdsw og weron whes) o
g ® s b 2

(A) wurprh

(B) Treafe

(C) T

(D) 79 Ty



of Sarva Siksha Abhivan”
clementany education 1o

ﬂ'ﬂ'l'll'ﬁtl.n 'ﬁh.r'lilllﬂ [P
chermentan education 1o

In age Eroup 6-14 years.
clementany education Lo

6- 14 s vy i ) el
fren o
(D) ywh Prdw &) srtfrs frem &1 |

Which traders first reached Indo-China
d".l-nTlE Ijlh EE‘I'"'[“':.' 2

(C) British (D) Fraad
d ofd 7
(A) g (B) wniw

‘Motera’, the world's largest cricket
stadium has been renamed as -

(A) Arun Jaitley Stadium

(B) Rajiv Gandhi International Stadium
(C) Narendra Modi Stadium

(I Holkar Stadium

fara & wwdt wit fisdie fegm, s, = 5w
N TN W -

(A) w=m dzdh 2feam

(B) e md s efeam

(C) v o wfeam

(D) vt wftam

L

&7

10

he GDP denotes =
(A) Genernl Domestic Parnmeter
(B) Cross Domestic Produd
JC) Liross [hversily Produg
(D) General Domestic Production

erﬂ?n:mlt &

sMadhubani style of folk painting |

popular in which stale *
(A) Uniar Pradesh

() Rajasthan

iC) Bihar

(D) Madhya Pradesh

‘E‘*ﬂlhﬂhﬂmim'

(A) T WEN
(B) TrT
(C) Frr
(1)) = wEm

1

Fill in the blank with the correct optien
She retumed home ™

door
(A) since (B) because
(C) until O} and

India has -
(A) One Party system

(B) Two Party system

(C) Multi Party system
(D) Autocratic government
L R

(A) % T sz

(B) fi ey

ot T
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73

Ihe minimum age for hecoming the
President of India is :

(A) 15 years (B3) 30 years

(C) 35 years (D) 21 years

T @ T e & T g s b
(A) 25 =4 (B) 30 =d

(C) 35 =4 (D) 21 =

Choose the correct preposition from the
given option to fill in the blank :

The sound came the room.
(A) from (B) m
{C) on (D) with

The first antibioic discovered was -

(A) Penicillin (B) Streptomycin
(C) Tetracycline (D) Neomycin
W T s e (dEermfos) 6 -
(A) Yfafaim= (B) @<

(C) *zmmfe (D) Prosmfis
faftsreen wf w1 arqn oA & 7

(A) =rth (B) wmmrw

(C) ymemé (D) swT=

Under emplovment occurs when people

(A) do not want to work.

(B) work in lazy manner.

(C) are working less than what these are
capable of doing.

(D) are not paid for their work.

Feq FOTH 79 B & W

(A) & wT T aead ¥ |

(B) g@ &7 & &M &7 § |

(C) arad) eom ® %9 wH @ ¥

(D) 7% = % wmel e T8
amen

74

73

76

i)

78

bers come in
7

5. 11,17,

Which of the following num
the series S, 11, 17, 23, oo
forerforfs # ® Wy wom, A0
23, ... W & ¢

(€) 308 (D) 309

Who played the lead role in Bardoh
Satyagraha 7

(A) Vallabhbhai Patel

(R) Mahatma Gandhiji

(C) Jawaharlal Maheru

(D) Bal Gangadhar Tilak

wrE warms ¥ gqun it e P
@7

(A) W wem

(R} e ieift

(C) wamTane %5

(D) W ey foers

Nitrogen gas makes up % of our
atmosphere.

wmgzr e, ampew § fise % o

aufrem ¥ 7

(A) 50% (B) 7%

(C) 21% (D) 78%

‘wfta’ & Fagon s & -

(A) wTerg (B) siftrsry

(C) wftpa (D) aiftriy

The Chief Justice of the Supreme Court
can only be removed from his post by :
(A) Impeachment

(B) Office Memorandum

(C) Plebiscite

(D) Pnivy Council

TN TG qE Oy = 3% 7
| ¥IT W T ¥



eorrect option Lo £l i the

plaving yesiendan
iHi k2 been
Dy s

known as the Forest Man of

(D) Marunuthu Yoganathan
felt =trw &9 sife gy w0 o= b 0

(A) WETE W
(B T faw
(C) wmew T
(D) wreEy oy

81 While Revolution is related to morcased
production of -
(A) Rice (H) Uats
i) Milk () Sesarme
yirm wrin foerfirfam o @ feeh sfus werm
W owttm k F
(A) v (B)
i) ()

N2 Frdiforn ¥ gy = wh wf frede &2
(A) g + fr  (B) g+ Fy
(C) qfe + far (D) g + Frm

Ay Where did TISCLY was establjgy

jarmshedjh Tata in 1907 7
(A} Sakche Hihar
(B Bhadravati b arnataka

(] Rourkela, Oudisha
A5y Bhilai, Chhattisgarh
7 4 wagew e oo fe o) w
W@ ntd
Xy st T
ool FAE
TrITEW  HTEIT
(D) faent, W

¥he ‘International Literacy Dy’
ed annually on which day °
10 October
i ¥ Avgust
B Seprember
W Nowember
wErTTa e frw st fEm e
wmk !

10 st

Whao is the first femabe President of s
(A} Nimala Sitharaman
Pratibha Patil
Sushma Swaraj
UM Sarojini Naidu
Wi o e wie iy wm b
IS:J frden dearrem
By wing ofrm
) gwn wrren
(I3} Wl oy

L] -
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Choose the correct option WO

The Greck inwv

elbin aders in Indj E ere
iA) the Mu;h...h _'T

(B) the Sakas and the Huns

() the Brtishers W

(13 the French —
Where was the firss lndn-p-mnd'-i'ulmn
built in India 7

(A) Mumbai  (B) Delhi 5

(C) Chennai () l:'l.h.un.-l—

T F qeen it e s wrm o o
(A) qud B) fomhy O

() a=f (D) wwwm

The river Bhagirathi is joined by ﬂ ﬂ.,,..ﬂ
Alaknandas ar

(A) Rudra Prayag
iB) Devaprayag

iC) Kama Pravag
(D) Vishnu Pravag

yowae af wrirrdt ah o fowd
(A) wEwam |
(B) o o
(C) wvigam o
(D) forw gom &

09546 _'ﬂEIDEiE:

The first woman Chiel Flection
Commissioner of country was :
(A} S Dhami

(B) Vijoyalaxmi Ramanan

(C) VS, Rama Dewi

() Meern Kumar

tn o yam wieen gou fraber sqw @
(A) ma

(B) Ferawed e

(C) dyom T &

(D) s gt

16

Ll

92
I

13

Whose role was prominent in the Bastar
movemend T

(A} Crundadhar

(W) Jatra Bhagat

(C) Mangal Pande
(D) Hirsa Munda

W wtteen 4 fw o oftrw oym @ 7
(A) erge

B) = oo

(C) wom wri

(D) farm g

In Democracy final Authority rests with -
(A) Parliament

(B People

(€ Council of Ministers

(1 Bureaucrals

ey 4 afw owm Afen R B -

{A) e

(B) wm

(C) wfy ofrey

(D) T

In aerobic respiration, glucose is broken
down into

(A) Ethanol and CO,

(B) Lactic acid and CO,

(C) CO; and water

(D) Exhanol and water

urody yew 4 wwirn & fewes @ o
v kb

(A) weim 74 CO,

(B) Werw s o OO,

(C) COy e

(D) wiraie T .

D279



nenis 10 each

B qrE W, oo

in the blank with the correct answer
choosing from the options that follow
I wanted for hom wntil he

(A} came (B) had come
iC) comes (D) hos come
95  ww] e W wgaew ww e fo ?
(A) wwgst (R) ==
(C) g (D) =epd
% The joint session of Parliament is presided
by

(A) President of India

(B) Speaker of Lok Sabha

(C) Prime Minister

(13} Chairman of Rajya Sabha

wae % wgwm sfrdys f sngem wrm ko
(A) WITA & TafA

(i3) s TN = Iww

TurHR

R R

97 Raw materials and money in hand are
called
iA) Workmg Capital
{B) Fixed Capital
(C) Human Capial
(D) Both (A) and (B}
mm-mﬁqnmmﬂmr-
(A) wrdsfm g
(B) Py o
(C) =rra gk
(D) (A) = (B) T

The requirement for production of goods
and services is

(A} Land

(B) Labour and Physical Capital

(C) Both (A) and (B)

(D) Social Institutions

Lo i #maT & TAnga & o osgsow b
(A) win

(B) wa w hitvs oh

(C) (A) 7 (R) =7

(D) amrfss dvmd

Which is not the benefit of education in
the later vears of life 7

{A) Good job and salan

(B} No development of health services
(C) Development of values of life

(I}} Enhancement of national income
:FH ® A & A i o= owme g ol
(A) wom =rd 7 do

(B) v sl & wif fawy o

(C) oy gegl wr forss

(D) T sy = wodw

100 Choose the correct meaning of the given
word from the options that follow

Bellicose
(A) comlonable (R) MEETCSSIVE
iC) calm (D} sad

2780



